Flexible

SalAIng

Tin Roof Mount

/@

SKU:9254

g

|
ROOF
\\ SHEET\ \

MAST

2 x BRACE

THE
BRACKET

RAFTER

MAST

NO. ITEM Qry
1 M8 L75 Hex head cap screw 3
2 M8 Nut 3
3 1/4" L75 Wood Coach Screw 5
4 #10 3/4 Metal TEK Screw 2
5 M8 Spring Washer 2
6 08 Washer 8
7 Cycle Washer w Neoprene Seal 4
8 Grommet 2
9 OD 45mm Pole 1
10 |Support Rod outer 2
11 |Support Rod inner 2




